10™ gana dhatus ending in S
o J XU, & 3dhodhad, g a0l
9->9R (Fhe) + § = IR
iR -> 3[o1) 9N + ¥ + fd > aR 3y I fa
qRATS

g -> R () + § = N

(&

g > @) aR + F + fd > aR 3 F @

o]

arata

5 -> (%) At + 5 > 8 319 3 = R

AT + 3+ T -> (IOT) A + 3 + d (HATE)
G 3T 3 J = HAGIA



10C Dhatu has a penultimate (i.e. 39HT) short (i.e. &&d)
S5y

o T TR, T T, U Jal, Jol TIA, 7
T
R -> (3qon) o9 + 3 = I
AT + A+ T >Td + 3+ d
dd 3T A d = Jddd

I -> (AqOT) IR+ § = AR
AR+ 37 + fd -> (o1 IR + 37 + fa
IR 3 37 9 = aRIfa

qq -> (1) a9 + § = dl
aﬁ+3¢+ﬁr -> (3qo) ad + 37 + f
aq 3 37 fa = aggfa

I -> ([01) A + § = AT
AR+ 37+ > @En A+ 3+
A 31 7 fa = Agia



10C Dhatu has a penultimate (i.e. 39¥T) short (i.e. &&d) 3
o &Tel ATHATT, dg T, B G0N

&Tel -> (I of 3UT 37) &7l + 3 = &ffel
& + 37 + fd -> (o) &mel + 37 + T
& 31 37 fd = &ferdfa

ds -> (37 of 3UYT 3) 13 + § = IS
arfs + 37 + fd -> (Io1) a8 + 7 + fa
arg 31y 7 fa = asafa



10C Dhatu SEEMS to have a penultimate (i.e. 39¢IT) short
(i.e.g&d) 3

o Y FEFIYSY, HIT Hdyul, 0T

A=, T Iiddd, §O W hars

Y + 5 -> Y T (but this dropping of last 3T not
visible to the rule which causes EI(:@' of 39T 3) ->
caD)

R + 37 + fd = ([0 *F + 37 + fa

&Y 3T 7 fa = FyIfa

d[uT + $ -> J1U] S (but this dropping of last 3T not
visible to the rule which causes g of 3TT 37) ->
arfor

IAMOT + 37 + d = (JU) 0T + 37 +

AT HY H J = A0



Because of the ending 3T in the dhatu, the §&d 394l 3
in {JW does not take 0T

g + 5 -> 9 (but dropping of last 3T not visible
to the rule which causes 0T of 394l 3) -> Qfl;@

g + 37 + fd = (o) g@ + 71 + fa

qg 3y 3 fa = g@afa

10C Plain dhatu with none of the above characteristics
* Uol JSIIH, He] 3Gel , WU e, 9] 2Asq,

i3 37aaTge
L+ g =4
qﬁ+3—r+ﬁ=(3;m)g@f+3—r+ﬁ-r
L3 3 fa = e

di5 + 5 = @fs
fifs + 37+ fa = (o) @3 + 37 + fa
45 3 37 fa = dizgfa

qusafd, Herafa



